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e Case (v) When the r.h.s. X does not belong partially or completely to any one of the above
forms.

When any of the above method fails to give the Particular Integral we apply the definition of — X
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Example — 1: (D% + a?)y = sec ax
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EXAMPLE-2:
« (D2 +5D +6)y = e **sec’x(1 + 2tan x)

Soluson A > w2 _
\__iL__ - S +§W\+6 =z O
Mz — 21_3
’ _ ° - —3™
OCE s Yo = et 4, e

Yo = — 2™
1 T — e SQ(,2>L Qv+ 26am~))

Q>+z)c\>+g> .
: Cx> :‘_.é”‘\(e SN A
D+2 D+3

~7
), éz""\g ép(e) %5%‘11 C\+>,tmm«)> Qe

= K '_1%
) j@cz% + 2 o~ Sec ‘C) d

- f ~2% &a
el [P

— 37 It~
G je ' 21 JSWWAl-%onWBa‘(

[

= éhgexi e + Ean%]o%
-2

- e gén E‘&Alﬁ%-l— Sectn —)] d~

MODULE-1 Page 3



- 55
= &

"&"’L

N

e

nj et tonw + sect —)] d~

ij e’ (vurw+sey) dot — &e“‘ dwg

Jem [ &(w)hﬁ‘cﬂ 3] dv = GM%"")

= €

tﬂP:

Cowm ple

4= 3

EXAMPLE-3:
e (D2 +D)y =

~ 3
{ e™ Lot - e%i

& (bovrm -1)

te solufops Ts

— ~2 -3 <2
c*3p= ¢, e “'(_‘_ (e Y%’Q ey -

1
1+eX

MODULE-1 Page 4

)



_ M dm= dE

j/?: ] g&‘?dh‘

D)

-2 |- |og(é’7+.)J D+a
= j e log (e'n) dx

Apreg@ibing by Per(ts

= _ e [ log(e’+) (ew) & ;):‘ Q%&%j
- [ lo‘j(eﬂ)*\’je“ J

- _ ¢ [ e log (X)) +& :g j%}&m

= ]ojl/q/—mj

et x|

4o = —e" Le"‘ log(e™+1) + log Ce”(«“‘lj

Th& (_C)MP)QJUQ Solubon T

D= I +Yp

= GQxGeX gt [ew (Oj(éx—\*)) Tloge™ *’)J

MODULE-1 Page 5



(D2_p _ — 1,1
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